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A={a, b, p}, B=1{2, 3}, C={p, q, 1, s} erafled, n[(AUC) X B] &gl :
(=1) 8 (=) 20 (@) 12 () 16
A={a, b, p}, B={2, 3}, C=1p, q, 1, s} then n[(AUC) xB] is :

(a) 8 (b) 20 2 (d) 16

n(A)=p, n(B)=q eafl® A - BHH B -65 SHaLsEb wrss o[ @& el 6
6T GvoT Wil S en & W)

(=1) 0 (<) 1 \,@Lmq | () 2pd

If n(A)=p, n(B)=q, then the total number of relations that exist from A to B is

(a) O b) 1 (c) 2Pd—1 (d) 2pd ) €.
i q s\ 7T

F,=1, F,=3 wpmd F =F _|+F,_, eaé der(hssiiger, Fs g : -

(=) 3 (=) 5 (8) 8 () 11 Y

Given F,=1, F,=3 and F,=F, _;+F,_, then, F is :

(a) 3 (b) S 8 x%} (c) 8 \/4\‘1

2N T
ti» s g, s ereug) @ Sl (DS éfg,m_r'r aufleng erafled tg, tg, tig, «went TETUS! :

(=) @@ QumEGS QgL auflens

( ™ &l (0% QsTLT cuflens

(Q:\) Q@@ Ll (HS Qg euflensuyeve, QumEES GaTLiT euflesujwae

() @ wrhldls Asmi eufleng

If the sequence ty, ty, t3 ...... are in A.P., then the sequence tg, t;,, t|g, -.oooo 18 2

(a) a Geometric Progression

(b) an Arithmetic Progression

neither an Arithmetic Progression nor a Geometric Progression

(c)

(d) a constant scquence
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21y° - 42y + 21
3y3

(&)

3y-3.7y-7 S

9
@ &

21y° — 49y 4 21
(c) s
3y

2 @(MUly FETUM gl euemnyuULLD &

(1) Crpr&Gan® (=) aulL b

Graph of a Quadratic equation is a

(a) straight line (b) circle

AB _ BC

DE FD

Sienowd ?

(=) B =[E (=) (A =D
) AB

If in triangles ABC and EDF, DE
|A = [D

(a) [B=IE (b)

3
(==4)

= 21y - 21)

www. Trbtnpsc.Com

5z51"789

7(y? - 2y + 1)

()
y2
3
b — e
21y - 21)
(d) 7(y2-y22y+1)

(c) parabola

(@) B =|D

FD

e /B = D

M :
(&) uraueerwd (F) SFureuaT

(d) hyperbola

arafler, AABC wmmw AEDF a{@un@@ agQargsouuns

(w) [A=I|F

then they will be similar, when

(d) |A=IF

W

6822
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QUL dhhlenr CurMGEanOb iman @pgapth Garii@hnns e @i :

(<) emiouitb B1,) Gl jemer]

(@) apr.aied (1) Jprrenr

A tangent of a circle is perpendicular to the radius at the :

(a) centre (b)  point of contact

(c) infinity (d) chord

215855 QIbhGSsTs o e Crir&Gam e gmiie, :

(=) 1 (<) 0 (@) \K~l
The slope of the straight line perpendicular to x-axis is :

(a) 1 b) 0 (c) d -1

sinf=cos6 erafleh 2tan20 +sin20 -1 -6 AL :

3 -3
S 2 () 5 ()

If sinf=cosh, then the value of 2tan20 +sin26 — | is :

w|N
3
!
(™)

3 -3
@ 3 b - (©)

WIN

-2
(d) —
9

% G5 whmibd srywpd 13 Q.8 2.mLw Chieul Lé swbiQey oW -
(=2f) 12 Qa8 (<25) 10 Gla.B (®) 13 Qu.8 (F) 5 Qs.8

The height of a right circular cone whose radius is 5 em and sl

, ant height is
will be : eight is 13 em

(a) 12 cm (b) 10 cm (¢) 13 em (d) 5 cm

goiommest GMitb wppbh oowiph
Canenglen st oienomelco il -

70 3 )20 103 - /]
(21)1:2 (+2p) (@) 1:3:2 5

The ratio of the volumes of a cylinder, g cone
diameter and same height is

ML @I 0 (menen, P by LM MW R
~ o

.
and a sphere, if each has the same
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13' @@ULS]L_L- §JUQ—|U l—lm@ﬂ&ﬂﬂm 531@;‘560 LD[D@]LD GIIITéHﬂ ,:%é]mcmm @mm@w 407 LDLT)[QJLD
11 erafl@, srequ Yeraflsafen cr et 6wl en g wimeng) -
(é;{) 37 (Q{,) 4477 (@) 396 (1) 418

[f the su'm ar?d mean of a data are 407 and 11 respectively, then the number of
obsep¥@ions in the data are :

[p]

2! (b) 4477 (c) 396 (d) 418

4. %rfﬂﬁ@) GT@\{BQI&S@T a b, ... , 2} -aﬂ@ﬁ)@ Q1 (PSS FLoeUmiLIL @mmuﬂéo ('Eg,r‘reu
leUlUUUG)\@[D@] é{{lbg) GTQ)D,Q-J@ X -5@ @Dmgjw ﬂ@@@&ﬁﬂ@) @667[[)[]’5
QrLuspsTar Bapssay :

12 1 3
(<) 13 () 3 M (M) 2

If a letter is chosen at random from the English alphabets {a, b, ..., Z}, then the
probability that the letter chosen precedes x :

192 1 23 _3_
@ T b 3 © s @ 26

LS - I/ PART - I -~

Gy : seneuCuiggd 10 HamésEnsd e waldsan. ellerm erear 28 -;'50@;2;-20
sL_Lmuwors edeLwafllése|.
Note : Answer any 10 questions. Question No. 28 is compulsory. \

; afle A LD['DQJLb\B %ﬁwmﬁj@@é

= — '—'2’ 4 ) (0) 3)’ (07 4)’ (3’ 3)7 (3 4)} of

15. BxA={-2, 3), ( ) =], et 5 ;2"*}

2. 4), (0, 3), 0, 4), (3, 3), (3, 4)} find A and B.

o -t)
joge) J(F0)) f (5

.
2 2.(pae) - 2 BlE T2

5 =5
706“) z h, g.w:_) =5
X i

ETERTS.

I BxA={(-2,3), (=
16. (i =5, fik) =2k~ 1 arafled. k -6 DL sTas,
Find k if fof(k)=5 where flk) =2k~ 1.

D
17 +12 whHpd X+ 15 gremuien @@ QUGS emi cuflesufean Qgmrddluimen Lae
i x . . . . o
2 ) < crefléy, X - m;ﬂumuéf: GITET ;. . .
ey -mHuLE GrepileD, :

o+ 12 and x+15 are consccutive terms of a Geometric

+6 kZ?
Find x so that x+© | ; et
A v (Y @45 X I Ay 22
; Progression. z g AAGe
7,'\(,3« @“P\“o 4! ‘}o I = /07
- A " e £ N *T HULSE / Turn ov
h ‘& ‘;\’fwm £ /r:’ - gg /’ qa ~0 N < /')U 4 / urn over
& \ ~ X m‘?’(
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x+2; )CQ'—X"G
4y 12y

18. smé@s

¢+ 2 ,\. - =
Simplify : —— *

4J n 12J \5
\") 1/
/ 5 / f l/.b z /

19. lglaﬂeu@m @@umr& um_qum @p@)meﬁ@ﬂm gmmwmwa A at

2x2-x-1=0 !
Determine the nature of roots for the following quadratic equatlon [’9 g

L al TR Lo oL
S R/A;’k @Wﬂh” L
| A
20. UL§S@ AD erennigl ZBAC —uﬁlm (@@&LD@@JL_L(}_UJW@LD
AB=10 Q&.15
AC=14 Q&.15 pHYILD
BC=6 Q.18 erafléb, BD wpmb DC-p& smams.

A oz aowe D)
an _ a2
Q pe - po
' Lot
L= 3.
§ -
B ke U Ay
6 Qg..6 ,;m¢'3,7‘”///2/
In the figure AD is the bisector of ZBAC, if AB=10 cm, AC=14 cm and BC=6 cm
Find BD and DC, Deo bz 6-35 = 38 &
N
™
n\\
\l l 7 "1\’2
~ N
(PP | L'//
@ [ g~
e e ik
/\\’r’ N (h"((’)
“ v g /
7AEE
\L A b ) ‘br'f‘
\ -
L L 7
“7*0‘ (¢ /f"T /O

7~
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o Leen Xy BTEAD (=6, —4) aam yaauder o arang). (5, 1) eremD Yeraflufled
Q@ LT ylly eeussLUL (heTerg). e Wlas @Gmélw gnyn LwefSgIL LTe
ambs AROUEDS) aafled, uremall UmE@EGusHEGS Coam el mer Limen gl e

SLOETUTL_GOLS STETs.

A cat is located at the point (-6, —4) in xy plane. A bottle of milk is kept at oy /d
s

(5, 11). The cat wishes to consume the milk travelling through shortest posmble |L’

L’”‘

distance. Find the equation of the path it needs to take the milk. o
')n« \ \ = [74’3')’
12y=—(P+3)x+12, 12x-7y=16 g dw @5n5@5n®&m @mg&@a;{remg CFm G55
&
srafler, P -ufler wdlienus sraums. W 2 ) Ve Ao,
zr!v '*""Uj

If the straight lines 12y=—(P+3)x+12, 12x-7y= /6C/are perpendlcula{ﬂgl;x/eﬁo
' &

find P’ 2

3 -7
AP
g4

Egc_e - sing = cotf GTG'NLJGU)§ "51@!5]555@4@ V ﬁ/

sin@ cosH
\ /0,

}F“

Prove that 2(131(1:2 — ::;g = cotf . 0"/'\;{%& W
, 9 il o/ //
ﬁ\" / ch

fssnanend Qaram® 7 LS <ppid, 24 5 2 wppd S @@ SalDL| GUIg GUS &SalL Uu)
2 (Heun&sLIL(h g)gd @5@1@1&5 6ulg G é]g;g,rr@sﬂ wz.o 4 8 GFGUﬂGl) Sigen Henli e
SRS, X «® - 9" 7L'V~ \.//5.9/ ( 3

i "5 =Th"
The radius of & omcal tent is 7 m and height is 24 m. Calculate the length of the
canvas used to make the tent if the width of the rectangular canvas is 4 m.

W'&?

e

Bm Gasrrmmasaﬂm c"éb'ﬂﬁi‘mf‘ fﬁéﬂgm 4:7 GTG'Uﬂ %r)gﬂem areysaflgr eNdsth
SN, )— 7 7) 6\ 7 / e / z \/9 ( T;

If the ratlo of radii of two sphercs is4:7, ﬁnd the ratio of théir volumes.

a Vo2 by 3Y)

“ p)

Qem@RastiulL eyl Ldreaflsenso eigs WPHMID 6fiad Qe},@mam} &IT TS,
Vv

63,80, 08, 125,79, 108, 117,68 " 0 3>

Find the range and co-efficient of range ol the following data.

63, 89, 98, 125, 79, 108, 117, 68

[ Q@L'IL{GS / Turn over
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27. A wpmid B pflwr @y o atoreuri'i TR [T -ufley Gariaug b md .u.rr/),/ﬂ(")l«“) e i
B
Qouiamailcd A CaihElsHldaii IWeughanc [Hlapmaa) 0.5. A HOID B B (r!rbm
AL
GCoipQgBéstiu@agpanan flapssa) 0.3 aeafld, B Gl ss 1B oD

SPsuce Hlapssal 0.8 aar Hapanan.  Pealyp ) &) A8 )Ly
A and B are two candidates secking nclnuqq/::::)’t’( l(l,'%) The probability that ,A
getting selected is 0.5 and the probability that both A and B getting sclected is
0.3. Prove that probability of B being selected is at the most 0.8,
t9~,'r¢/’c/l)- 0-3 £
(e e "

/s
28. p?xq'xrtxs3=3,15,000 GTRIMAUTI] <DIEHLOW|LD mcoﬂ& q,'r LDLD[D]LD s %@UJGUD@G‘"

LHULSETE SIS, 0w
Sy ) o ¥Ts (0o
If p2xq! xr*xs3=3,15,000 then find p, q, r and s. 7 63 5| &0
o O
o ) Yy 9 o L lf

\o
3 x7 ¢S xrB\s Tt
UGS\ - III / PART - IIX

Gy : mmm@u_xgnu) 10 eflemmésEns@ o waldsan. e aar 42 -5
SL_L_MuLons ellenL_wief&seyb. 10x5=50

Note : Answer any 10 questions. Question No. 42 is compulsory.

29. f: A > B eamn 5|Tr'rurr6m§1 flx) = 5 -1, Greu mmmumwwuu@é]rpw Qm@

A=1{2, 4,6, 10, 12}, B=1{0, 1 3, 4, '3 9} <& QMHE@LD Gungy gniy f -R &]&TQJ@CD
pennaailed & masab.

(i) eufleng Camggaflen aerid (1) @l cuament

(iii) @b ysEM UL ib (iv)  Quemyuib

Let /A - B be a function defined by f(v) = \) =1, where A={2, 4, 6, 10 12}

BAJ0, 1, 2,4, 5, 9 Represent S by :

i ‘tof ordere -
(1) set of ordercd pajpy (i) o table

iii) an arrow difgrag
(ii1) , 2 (iv) a graph
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30. @@ Qsmel@idarer aisEhsE 1 Wpsd 49 ceny Garréfunss 556l V&S D
anphistiulQetarg.  Qopdalan o igne peaasrs  oerer 6 Gaemer
spelasshsala gl (g Qpraswunag QspHadear il iyhEl Garagns 2-emer

aihsallen sgellwsstisailan gal(d Qsramased swibd erafle s hlealen cil_(h& .
SHONOHEHSIMGHE 5T, 1F203 4 @) () 4 @A 7
— oyt A1) = \erk Sk o P (2t #)
The houses of a street are numbered from 1 to 49. Senthil’s house is numbered

such that the sum of numbers of the houses prior to Senthil’s house is equal to
the sum of numbers of the houses following Senthil’s house.

- Find Senthil’s
house number. ﬂ (!r("‘"ﬂ [ﬁ[ ((_f,uq) } (tn,)
: vt )
".{'l//;/) d == = R >7‘\7]
Yoz 2480 TR v 2450
31. 5+55+555+ eresim @ reuflensulle . -"‘;ﬂ. . L 1B T ’y’/‘
' 9+55+5855+..... a1 Ggrmeuflenguilen (pged n 2 miiLseilen ga(hse STemTs. PR
T 35”
Find the sum to n terms of the series 5+55+555+..... .
<€ ((.,flﬂ—(“"‘"\’ N"?{) - j }7'-‘-“.45[{( P o = ?/’i’*f&. g
/‘/‘ .
T /?[:o(lv ] "’(l" 'l) 7‘92?(?—{f1,p_$’f¢_(>_(; LW Mm 7~» Q_“j
J ('d 7 (d-')-fdv')-e' R S de
32. Spésramib ey m”@&aﬂm @lmmgng @@rma;comLCSprﬂquu swerur_(Hs

Qzm@LLSmeT SiTds.

3y

x+20= "7 +10=22+5=110~(y+2)

Solve the following system of linear equations in three variables
3y

x+20=——2—+10=22+5=110—(y+z) o 3K ‘a c ¥, &7 5
5 2 9 7
33. A:[l . 8}’ B=|1 2 | aafle (AB)T=BTAT aranuemnss sfuniréseyb.

“ 5 -1 % T el )

g'), 'l) Q:\Z) b ( \9 1
() = ;

£, 4

529 = oy P
IfAz(] : 8} B=|1 2 | verify that (AB)T=BTAT L ( V3 2
5 -1

[ Hpris / Turm over
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36.

37.
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5259 75)
10

P BT @erL Qasaflulied ‘e’ B it wppitd b’ 5Lt e wigapeer @raTE gramser
2 eirerren. glersafle 2§ mba crdGwjerer gemsailen lig5S cue WD

Car@adr spHlégnd Laraflufen 2_WIfLomeg) ;aTbg Bt eremuang Hleplése]D.

'I\\to poles of height ‘a’ metres and ‘b’ metres are ‘P’ metres apart. Prove that the
height of the point of intersection of the lines joining the top of each pole to the

1¢V%’@ 'Vﬁ’ﬁb/
« B

foot of the opposite pole is given by f_:)—b metres.
Cb/r@ 4 atd = ﬁq

- oo L=

Caren @QmewGeul i Csppsams erips Be19656,0b. = Fk( a ;)
. 4

State and prove Angle Bisector theorem. 97’1 /@ '}’@ | = b <£:b

w oo 2 Ko O

e
(8,'6) (.5, .11) (.-5, 12) omid (-4, 3) Yfw yerellsmer (peaarsaris GamamrL
BID&ISSes LrlienLis smers. 19 ¥
Find the area of the quadrilateral formed?Ly points (8, 6) (5, 11) (-5 12) and
(=4,23): ,

7x=3y=-12, 2y=x+3 Ydu CprsCar@aar sHESGWL YeTel gl Qedaugib
X-2A656@ Qevamunengiorer Chi&GaT g6 SaTUT L & SRS,

Find the equation of a straight line parallel to X-axis and passing through th
e

point of intersection of the lines 7x—3y=-12 and 2y=x+3.
N #18Y 430 20

20 sorsmy dassgan 2 sdullmpg adArdi Lssmsa o
SEULUGFET 30° wHmD 60° @)nHss Ga et hHed Limidas iu @& e
efleréaifen oo h 15, £ BULGSE DHOID SOMSDT 69 s
B Wees Gy CpisGam o Dl wdlanpen araflch, &y er

arer k@qdar@
QN SQBRISY
SHen g UL@E
O sLuQ&ERa

S VS EHE®

o i 4h v A
@)L Qg nenans| 7 B, et Blani9dmeth, «/) ACe \'[; &

L ry

o : PY = {75

From c top of a lighthouse, the angle of depression of two ships on A}L obDOW

sides of it arc observed to bhe 307 and 60°, If the height of the lighthuuslzl ‘OSl}t]e'
. - » ls 1)

metres and the line joining the ships passes through the foot of the lighth
‘ se

®
\/': m. 1&04""9’1/“‘9

41

show that the distance between the ships is
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AT 5
‘ e 9 e 225Y775
1 s 6622
el "{S‘;ﬂ B - sf”“/m e
39. @ 2 mevarufen «ymid wHmID e-wimisailar afdamn 5 : 7 U)})(!I)(D ryu,m c,nmmwc Ly /

5500 &.Qg.15 erafled, o maneruflan < iih whHmID 2 it e,

The radius and height of a cylinder are in the ratio §
area is 5500 sqg.cm.

7 and its curved surface
Find its radius and height,

40. AMET sIG GOWLU aflyprefpE 150 HUITGET GHik@GOUBHE; G Jal 11D DieniosAp

SLTISHS @ liuEd o mear angelaid GiopLi@d gnibl) aqellgin v_erans,
ROAUT SRGUSHG 4 &.18 @i liu@d uptin 40 6.8 arpmid Cueneuiu®ng.
SLIISH® o meneruden o wipd 8 18 erafled sntbiAen o iy redora. J &

Arul has to make arrangements for the accommodation of 150 persons for his
family function. For this purpose, he plans to build a tent which is in the shape of
cylinder surmounted by a cone. Each person requires 4 sq.m. of the space on
ground and 40 cu. meter of air to breathe. Find the height of the conical part of
the tent if the height of cylindrical part is 8 m.

41. Qe Syren usaLseT (peypwing @Gy CrrsHd &@Lpuu@éﬂdﬂmaﬂ
(i) @Qraw®h usaLsaflgibd eGrps wIHL HoLés /3[7 = /ﬁ \‘a_‘

(ii) s walyseier UMSSHLIME LST TaTanTs SHahl &8 }'% = /Z

(iil) s wilysafler amBHg o LST TarTanTs Sl &s ’5? g 7{)/

(iv) @ps wHlyseian smbse 1 -6 QHG6 1§

2w Blapsdlsailen Hlapsse|smennd srams.

Two unbiased dice are rolled once. Find the pr(‘)T)bbili‘_t:y of getting :
(i) a doublet (equal numbers on both dice) ~.
(ii) the product as a prime number

(iii) the sum as a prime number

(iv) the sum as 1] ’)f\j
7:\] ? 3 2, % I
k’lv/f/ o go, Yy %
Al 2
42. A= er/x < 3}, B={xe N/1<x=5) wppib C=(3, 5, 7} arafldh A x (BUC) = (A x B)U(A x C)
GTEIILIENS, aﬁh‘.nrrm,a,c,xub,

Let A={xeW/x <3}, B={xeN/] <x =05} and C=(3, 5, 7} verify that
Ax (BUC) = (A X B)u(A % C).

[ Haptings / Turn over

7
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L@ - IV / PART - IV

556U 2x8=16
GO : WSS e anTéSEHEELD eQenL_WaN&ESayLD. X

Note :  Answer all the questions. . ]
43. (=) 4 @&.18 C%UQ,DG'TTGW' QLD cumIhEl, DIGe mmmgﬁaﬂ@;ﬁ@ -11 ’Q&..LB
Qgraaelgider @ Letalleus GN&8), o Uieramud 6Sl b Ul LSSDS
@ et (b QsTHCHTHSET UMTS. |\, v
9|6V608)]
(=) Sgliuésnd BC=8 Q&.8 ZA=60° wHmD LA -6 B Fo0eullg uITeTg)
BC - D eranp yarailuliew BD=6 Qs.8 eranmeurm sHEES DS ereflev,
p&Carand ABC auas.
(a) Take a point which is 11 cm away from the centre of a circle of radius 4 cm
and draw two tangents to the circle from that point.
OR

(b) Draw a triangle ABC of base BC=8 cm, ZA=60° and the bisector of ZA meets
BC at D such that BD=6 cm.

44. (1) aedst QeucuCoun 2iaTalsemd 6 UL RIS QUETBSTET. 3L euenamudley
o cremeumm, GaIQeun aulLsder el LSEHED, A6 spHmeTeliM@LD 2 erer
Gamprwg QAasmiys&E @@ GUETULLD GUETWG|D. HFEM e vweTuBH S8
AL Lorang) 6 QF.8 <8 @mEEn Curg el L ggler a‘:g’)g)memuésg&rfdms.

\&-

L (x) Ge.15 1 ) 3 4 5

g;g)mm@_l (y) Qe8| 3.1 6.2 9.3 12.4 | 15.5 \%

I A’y

2160608 V

(<) y=x2—5x—6 -6 QUDTULLD QUMb ASMETL LwetuHSE X2 -
aranm sweTUT L SiT&Ese .

S5x—14=0

(a) Varshika drew 6 circles with different sizes. Draw a graph for the relationship
between the diameter and circumference (approximately related) of each

circle as shown in the table and use it to find the circumference of a circle
when its diameter is 6 cm.

Diameter (x) cm 1 2 3 4 5
Circumference (y) cm | 3.1 6.2 9.3 12.4 15.5

OR
(b) Draw the graph of y= x*~5x-6 and hence solve A2 - 5x— 14 =0,

(e

~00o0 -
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